EAR<SSEEBEE> No. 10DfEE

1. ROXEHHICE X,

(1) 3v3 +(-2vV8) x V2

2 V5 +3V5 V2

3) VZ+VT = (-V2)

(4) =3V5 x3vV3 xvV/2

(5) V5 + V8 + (—V2)

pr

% —9v/30

6) V2 xVT+V3

(M V7T x(-2vV8)+Vv2

(8 —2v3 +v3+vV2

9 V8= (=v2) x (—v2)

(10) 2v/5 x (—2V6) x /3

., VA2
3
s AT
% -2
%272
—12/10



TEHBE<DEEAE> No. 20HE
1. kOXEBEIZE X,

(1) 3v/3 =37 =2

(2)

(3)

(4)

(5)

3V2 x VT V3

—3vV5 xV2 xvV2

—2V3 x (=3vV5) + V3

% —6vV5

(6)

(7)

(8)

9)

(10)

V3 =+ (-2v3)+v2

26 x V2 + (—V/3)

VE +VE x (V)

2V6 + (—vV3) + (—V2)

V5 x3VT xV2

. =3y 70



TEHBE<DEEAE> No. 3DHEE
1. kOXEBEIZE X,

(1) 3v2 + (-3V8) x (—V2)

(2)

(3)

4)

(5)

V3 x (-2v6) V2

VB (-3VE) x (-VE)

V3 (-3VE) x V2

V6 x (=3V8) x V3

B 243

(6) V6 x (=3V5) x (—V3)

(M) 26 x (—2v2) + (-V/3)

(8) V8 =+ (-2v5)+(-V3)

9 V5 xV3 =+ (-V3)

10) —VZ x V2 + (~V3)

. 9V/10



ERAR<SDEEE> No. 4DEE

1. ROXEBRICE &,

(1) 25 +V3 +(-V3)

(2) —2V/8 V3 +vV2

(3) =3vV2 x2V6 =2

4) V6 x3VT x (—V3)

(5) 2V2 x 3v/5 = (—V3)

e

—6\/@

-9v 14

—2v 30

6) —vV3 +2vV3 xV3

(M V8 xV8 x (—V2)

®) —vV2+V5+v2

©) VE x (—V3) =3

(10) V3 x (—2V6) + V2

03

“fs



TEHBE<DEEAE> No. 5DHEE
1. kOXEBEIZE X,

(1)

(2)

(3)

4)

(5)

-2V2 x 32 + (=V3)

3WVT x V3 x (—=V3)

V2 xV2 xV2

VT x(=3V6) x V3

-2V2 x V2 x (-V2)

9T

&, -9V 14

6) 3V6 + (—vV2) x V3

(D V2 x (—V3) x (-V2)

(8) —=3v2 =vV2 +V3

9) 23 x 32 = (—V3)

(10) V8 + (-3v2) x (—V3)

B —6v2



